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SA SASAMTY
Ho: A)|ES BECA JlE A=
el BADNEE LR
S - BB BR(31) - NSAY - BES S SR b=
S0 & 18,400 12,000 6,400
= 9,200
Al 4,600
- 4,600
OO =2 TloHoEAId EXIKIA
18,400,000 18,400
= 9,200
Al 4,600
- 4,600
EAEOIEN DD CIHEIE X2 55,000 35,000 20,000
= 27,500
Al 27,500
301 detENZ 55,000 35,000 20,000
= 27,500
Al 27,500
14 J|EI2 &2 55,000 35,000 20,000
= 27,500
Al 27,500
=0 A 55,000 35,000 20,000
= 27,500
Al 27,500
OEALQIE QMEIE Xz
55,000,000& 55,000
= 27,500
Al 27,500
HIMHEE AIEE 24I0tA JSHHAAE 20,000 20,000 0
= 10,000
Al 10,000
201 et | 2,730 2,730 0
= 1,365
Al 1,365
01 AtS2teltl 2,730 2,730 0
= 1,365
Al 1,365
S0j &t 2,730 2,730 0
= 1,365
Al 1,365
Oget=Z| 2,730
O Mol HAIE S0t 50,0002 %103 500
= 250
Al 250
OsMMaAN S22 M
1,000& %2, 23004 2,230
= 1,115




SA SASAMTY
B MD|ES BT JIY 2
el BADNEE SR
SH - B S9(3H) - NRAY - BES S S =
| Al 1,115
206 MHZH| 3,520 3,520
= 1,760
Al 1,760
01 =4l 3,520 3,520
= 1,760
Al 1,760
S0j &t 3,520 3,520
= 1,760
Al 1,760
OJ|1Z&d U= M=hl 3,520
OJIZ&u Mzl 3,000& 100 300
= 150
Al 150
OSY SMMBAADS S
3,000 *120H +73] 2,520
= 1,260
Al 1,260
Ossuss S22 Hat|
5002 x350H #43| 700
= 350
Al 350
301 Let8dZ 13,750 13,750
= 6,875
Al 6,875
11 SHAIRHIXI RS2 9,400 9,400
= 4,700
Al 4,700
201 & 9,400 9,400
= 4,700
Al 4,700
OR4JtA 2= ALHE Al
20,0002 %2774 2 5,540
= 2,770
Al 2,770
OIOgleld s#&aAst FWAH Al
80,0002 x27H 2,160
= 1,080
Al 1,080
©Ieleld SCHXID| A Z0i A Al
8,000&x100H 800
= 400
Al 400
O=MMEAMN SEE8S O A 2l
3,000 *308 103 900
== 450




SA SASAMTY
B MD|ES BT JIY 2
el BADNEE LR
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 450
14 J|Et2 43 4,350 4,350 0
= 2,175
Al 2,175
204 & 4,350 4,350 0
= 2,175
Al 2,175
OJ|F&ENE LAY 4,350
OJI1Z& W ZAt==Y 300,000& *13] 300
= 150
Al 150
O=g sSMMEAMNNS ZAY
150,000 & *73] 1,050
= 525
Al 525
O0iglol stZual 2AY
100,000 *303] 3,000
= 1,500
Al 1,500
Jeleldgelal Sl XA 3,000 3,000 0
307 QIZ2t0| ™ 3,000 3,000 0
02 IZHBAAIEE R 3,000 3,000 0
204 & 3,000 3,000 0
oIgeId=S7Egasl 3,000
OF2A ZE IR AL
3,000,000& 3,000
0 WRE 2 AHEE B2 A,374 114,147 A19,778
Al 75,442
- 18,932
9= 2 2l 83,154 107,297 A24,143
Al 75,442
- 7,712
Ol2alE A S 22 (HESAIY) 75,442 75,442 0
Al 75,442
101 1244| 28,077 26,873 1,204
Al 28,077
M JIZHN22NSES 28,077 26,873 1,204
Al 28,077
=0 A 28,077 26,873 1,204
Al 28,077
ot : & 22| 28,077
OJlee ¥ saisesy
79,6703 *1H 306 24,380
Al 24,380
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M 9t JiRst = oHEN 2=
&t e = 2l (chel &2
SA - EH - CR(B) - NRAY - BaS S SR RS2
O Xt 79,6703 x1H+10& 797
Al 797
otz 80,0002 *1H+10& 800
Al 800
Ounsy| 5,000& 15210 1,050
Al 1,050
O3A| 5,000&* 18210 1,050
Al 1,050
28t AH| 30,305 29,720 585
Al 30,305
01 AtR2teldl 20,105 21,720 1,615
Al 20,105
=0 A 20,105 21,720 AN1,615
Al 20,105
oget=2| 17,105
OlISasT SAF 23 ot E8=2 S
500,000 500
Al 500
OZ20IZAld =& BA =58 14,920
-NEs A 337,000 *24 04 2~ 8,088
Al 8,088
2l AEAA
67, 100& x24 | 2~ x33] 4,832
Al 4,832
RHE(RAER) HA
50,0002 *10IH A *23] 1,000
Al 1,000
-2XEEs A 100,000& *103] 1,000
Al 1,000
O%%2 EEE1AN 2IES &
830,000 830
Al 830
Ox=&2AME X 2 535
-500m| (=el¥) 90,0003 * 1A 90
Al 90
-1L(RZ2 =) 100,000 »28 A 200
Al 200
2L (PAM+Y) 80,0003 #2584 A 160
Al 160
4 (PEM=Y) 85,0003 x18F A 85
Al 85
Ogas=ser 12 270
—GAESEAI IS (HA
15,000 *3JH A %63 270
Al 270
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SA SRS
Az St RS 2 oHEA B3
ciel: ole 2 ae) LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
Ol &3 100,000 100 2~ 100
O243 A& &=
200,000 100 2~ 200
Ol 423 100, 000 & *2JH A~ 200
O&D| dE=s 286,800 *2JH A~ 574
206 =8| 1,950 1,350 600
01 MZ Bl 1,950 1,350 600
S0 A 1,950 1,350 600
OYA AEC 1ol 1,950
OREAS2H(IH) 6,500 *300kg 1,950
QA oY Y S 11,220 6,850 4,370
Ha=2te| 11,220 6,850 4,370
201 LBt A 1,500 1,200 300
01 AF222telb] 1,500 1,200 300
=20 A 1,500 1,200 300
OgBt=ZH| 1,080
OLYEE& NI |7 2L 380
-HE=S(41) 4,000& =504 200
-TH$=E(11) 6,000 *30H 180
OLZEA=AEH| ARE 22 300
-PH & D02 222 300,000 300
Odt& 4= =& HAHHI
50,0002 %2l A *43] 400
(@IE=1:] 420
OFZEQAAID 8 ¥ ©&58 MYs
70,000& +6H 420
206 M=H| 5,650 5,650
01 A28l 5,650 5,650
=0l & 5,650 5,650
O£=ZAAID EHHIEH] 2L 5,650
OKEXM(IHEH) 100, 000& *20E A 2,000
OKE=M(EERS) 100, 000& *208+ A 2,000
OKXelH 70,0002 100K 700
OII&E&S 38,0002 x25& &f| 950
405 KHAFR S HI 4,070 4,070
01 XA =S EF S| 4,070 4,070
S0 A 4,070 4,070
ORI SHI 4,070
OtA=dEH| ¢ 4,070
- =HE| 4,070,000 *1CH 4,070
MESIHO| AN AN 1 723,486 740,021 AN 16,535
SHHNEREZ 2 A 48,069 48,069 0
S A 2 HY 22l 48,069 48,069 0
201 LEt2AH| 48,069 48,069 0




2A: AP
mu MBEZO NN HA ER
Sel: sjAREE 2 24 CLELE
SH - B S9(3H) - NRAY - BES S SR HIDS2
01 AtS2teltl 10,441 10,441
=0 A 10,441 10,441
ogst=2H| 10,441
Oa 50,000 *8I 2~ *23] 800
ORWMIXIAM(HE, &=4) 6,761
-83I|=Z 80& x18,0000H 23] 2,880
-SEZ 80&*15,0000H 23] 2,400
-mze 164, 50021 +98 A 1,481
OtAMERYZ Y AEIE
2O =2 ,200,000, 0002 *3%+3% 2,880
02 3523l 37,628 37,628
=0 & 37,628 37,628
03522 ¥ HA 28,988
ORI} RERZ 28,988
S)|LE2(AI2
2,530& *12021 %23 608
-8 LEHQ Z2(HI |2
4303 *18,00024 %23 15,480
AP HRB(SEE)
4303 *15,00024 %23 12,900
OBIWLLED YRANAY RX|24
720,000 x12& 8,640
SSSHEA 22| 675,417 691,952 216,535
SSSHEA L S0 22 675,417 691,952 16,535
201 Ler23d| 653,917 608,952 44,965
01 AtS2teltl 74,660 68,300 6,360
S04 & 74,660 68,300 6,360
ogst=2H| 42,160
O=sstE4 & 2= =X 4
280,000 * 1200 & 3,360
ORIZOHYSIEA HOIZE X7
900,000 *9IH A 8,100
O SHEA OHHZHE JIZ
1,000,000 *1JH 2 1,000
O3S3H&EAl =ZXE g 2,700
=1 ETNR 25,0002 * 1891 A~ *2I4 900
-go 100,000 % 18IH A 1,800
OZ2=stEa #4028 5 72
27,000,000& 27,000
oYXtz 32,500
O0ls4 S=stE4a Xt
7,500,000& =100 & 7,500
O3=stEa 2 S0 22X =2z X2
25,000,000 25,000
02 323l 579,257 540,652 38,605
204 & 579,257 540,652 38,605
03522 ¥ HMA 60,875
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=N
K| ZH -
(== I

o

SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
03 DIZIRIEAIZHI 115,640 113,756 1,884
rag 57,820
Al 28,910
- 28,910
=0 A 115,640 113,756 1,884
g 57,820
Al 28,910
- 28,910
OZdI0IE Xel KA 115,640,000 115,640
g 57,820
Al 28,910
- 28,910
N2 A=A B2 XRAFS 400,400 398,000 2,400
= 240,240
Al 160, 160
402 OIZHRFE0| A 400,400 398,000 2,400
= 240,240
Al 160, 160
02 SIZFXIEAIHE (0| THL) 400,400 398,000 2,400
= 240,240
Al 160, 160
=0 A 400,400 398,000 2,400
= 240,240
Al 160, 160
OJIEE MN=sA 22 XA 400,400
Oger I3 100,000 *3, 8600+ 386,000
= 231,600
Al 154,400
OMASSE I3 600,000& #2407 14,400
= 8,640
Al 5,760
AT H K& AFS 122,501 53,625 68,876
J| 110,251
Al 6,125
- 6,125
301 LEtE M= 122,501 53,625 68,876
J| 110,251
Al 6,125
- 6,125
01 MSIEEE LG Z2(2DEXTL) 122,501 53,625 68,876
J| 110,251
Al 6,125
- 6,125




=N

S 9t JHRE tHo1EE =4
SRl oILIE2E 22 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
20l & 122,501 53,625 68,876
J| 110,251
Al 6,125
- 6,125
OSHIIH 7 H KI&AAHS 122,501
OYdat~o 2 QAZH X3 122,501
—ROUMEE 1,641,6703x*5H 12 98,501
| 88,651
Al 4,925
- 4,925
-RLYSN 4,000,000 x6 24,000
J| 21,600
Al 1,200
- 1,200
otEst AIZS MZE - RSIIP =4 824,390 723,870 100,520
= 329,900
Al 207,250
- 287,240
AE Y SSAMH L 2 768,040 671,640 96,400
= 312,500
Al 207,250
- 248,290
AT ML 2| 24,040 24,040 0
201 LEt23d| 3,590 3,590 0
01 AtR22teltl 3,590 3,590 0
20 &t 3,590 3,590 0
Ogst=2| 3,590
OZ B IHAID)A S 24
1702 %10Z*1,0000H 1,700
Ogdu - 3ItE g2 2 EH 7Y
300, 0002 *57H4 1,500
O==2s HE 3903 *1,000% 390
202 04| 2,000 2,000
01 2L 2,000 2,000
S04 & 2,000 2,000
O&2/yl 2,000,000& 2,000
203 RF&d| 450 450
03 AMEFRHRFAIY| 450 450
S04 & 450 450
Ol g2 =& 450,000 450
206 M ZH| 15,000 15,000
01 M=l 15,000 15,000
20i & 15,000 15,000
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